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SAEMUE L) SAD 150PSE! 15.0t 110kw E3H/FL8H

£ FR i VN - ~t i* % B #HE B * £ | BEES i =
AEH a—1)—ELLS (&A1) 9 48.0 86.5 4,152 Bi— 17 |[=16.1x3h=48.3L
=M A SRR A 1.60 27,300 43,680| B— 12 [1AX179Fx B(1.6)
EREME SRR A 1.60 22,000 35200| B— 13 [1AX179F%x B(1.6)
SRE M D 150PSE! 150t 110kw BEREF} =] 1.00 15,100 15,100 B — 22
FAEMR $/D 150PSE! 150t 110kw fHEFREH =] 2.25 14,100 31,725| BE—23 |a
RisEHEE % 24.36 | (129,857) 31,633
—REEE % 24.75 | (161,490) 39,968

op
i

201,458




(HYEf&RE335)

S EMIEER 1 H

=P LA

(HRARHS94)

SAEMUE L) $lD 150PSEY 15.0t 110kw E8H/FL13H

£ FR i VN - ~t i* % Bf| #HE B (i * £ | BEES i C:3
AEH A—)—ELLS (1) 9 129.0 86.5 11,158| B — 17 |=16.1x8h=128.8L
=M A SRR A 2.18 27,300 59514 B — 12 [1Ax179F % B(2.18)
EREME SRR A 2.18 22,000 47,960| B— 13 [1AX179F X B(2.18)
SRE M $FD 150PSE! 15.0t 110kw BER{EH} =] 1.00 15,100 15,100 B — 22
&M $HD 150PSE! 150t 110kw HEFAEH =] 2.25 14,100 31,725 BE—23 |a
RisEHEE % 24.36 | (165,457) 40,305
—REEE % 24.75 | (205,762) 50,926

a H 256,688




(HY B EREMD)

S EMIEER 1 H

=P LA

(HRARHS94)

SAEMUE L) $lD 150PSEY 15.0t 110kw E9OH/FL11H

£ FR i VN - ~t i* % Bf| #HE B (i * £ | BEES i =
AEH a—1)—ELLS (&A1) 9 145.0 86.5 12542 Bi— 17 |=16.1 X 9h=144.9L
=M A SRR A 1.95 27,300 53,235 B— 12 [1AX179F X B(1.95)
EREME SRR A 1.95 22,000 42,900| B— 13 [1AX179F X B(1.95)
SRE M $FD 150PSE! 15.0t 110kw BER{EH} =] 1.00 15,100 15,100 B — 22
&M $HD 150PSE! 150t 110kw HEFAEH =] 2.25 14,100 31,725 BE—23 |a
RisEHEE % 24.36 | (155,502) 37,880
—REEE % 24.75 | (193,382) 47,862

a H 241,244




(HYEf&R5E35%)

S EMIEER 1 H

=P LA

(HRARHS94)

SAEM(E L) $MD 150PSE! 15.0t 110kw 1E14H/Fk16H

£ FR i VN - ~t i* % Bf| #HE B (i * £ | BEES i C:3
AEH a—1)—ELLS (&A1) 9 225.0 86.5 19,462 Bi— 17 [=16.1x 14h=2254L
=M A SRR A 2.53 27,300 69,069| B— 12 [1AX179F X B(2.53)
EREME SRR A 2.52 22,000 55440| B— 13 [1AX179F X B(2.52)
SRE M $FD 150PSE! 15.0t 110kw BER{EH} =] 1.00 15,100 15,100 B — 22
&M $HD 150PSE! 150t 110kw HEFAEH =] 2.25 14,100 31,725 BE—23 |a
RisEHEE % 24.36 | (190,796) 46,477
—REEE % 24.75 | (237,273) 58,725

a H 295,998




(HYE &R 5536%5)

S EMIEER 1 H

=P LA

(HRARHS74)

SAEMUE L) $AD 150PSE! 15.0t 110kw 1E6H/FL8H

£ FR i VN - ~t i* % B #HE B * £ | BEES i =
AEH a—1)—ELLS (&A1) 9 97.0 86.5 8,390 Bi— 17 [=16.1 X 6h=96.6L
=M A SRR A 1.60 27,300 43,680| B— 12 [1AX179Fx B(1.6)
EREME SRR A 1.60 22,000 35200| B— 13 [1AX179F%x B(1.6)
SRE M D 150PSE! 150t 110kw BEREF} =] 1.00 15,100 15,100 B — 22
FAEMR $/D 150PSE! 150t 110kw fHEFREH =] 2.25 14,100 31,725| BE—23 |a
RisEHEE % 24.36 | (134,095) 32,665
—REEE % 24.75 | (166,760) 41,273

op
i

208,033




(HYEfH&REE37S)

S EMIEER 1 H

=P LA

(HRARHS74)

SAEMUE L) $AD 150PSE! 15.0t 110kw 1E6H/FL8H

£ FR i VN - ~t i* % B #HE B * £ | BEES i =
AEH a—1)—ELLS (&A1) 9 97.0 86.5 8,390 Bi— 17 [=16.1 X 6h=96.6L
=M A SRR A 1.20 27,300 32,760| B— 12 [HAX179Fx [(1.2)
&M D 150PSE! 150t 110kw BEREF} =] 1.00 15,100 15,100 B — 22
AEM #MD 150PSE! 15.0t 110kw fLFE1EH =} 1.65 14,100 23,265 HBH— 23 |«
RisEHEE % 2436 | (79,515) 19,369
—REEE % 2475 | (98,884) 24,473

& 123,357




(CLE)

% FR i 7N & Hfy | HE BEEES " H 2-S e
B A 70,900 1| RS FERRBRAFRINTE LM
AR A 62,200 2| NS FERET FBRAFRIMEEM
A (A) A 55,200 S| B FERET FBRAFRIME L
$Em (B) A 45,300 4| IS FE R R BRI FRIMEEM
HEm (C) A 35,600 5| NS FERET FBRAFRIMEEM
B8 A 31,600 6| HHANSFE R F BRI FRIMEEM
B2 T AR A 51,000 1SS FERFEHRAFRIMEEM
Bl 53:01 A 44,000 8| RN FE AT FHRAFRIMEEM
B E B Em A 34,300 9| HHSFEERFT FHRAFRIMEEM
BEBF A 32,200 10| A EER A EHRAERME R
REWHEE A 27,000 N[ SHSFEHRT RBRAFRIME L
= i B SRR A 27,300 12| A EE N TREEFHTHEM
i@ A SRR A 22,000 13| RIS FE N TEHREHIHFEM
BT — i (SIRR) A 17,000 14| SRS FEEA K T EREFHHEM
HI)Y L¥a5—RE R (RI) ) 149 15(BEHEMIAS. BEWIE3IAS
B AU RHEHE(RIT) 2 132 16| EHEMIAS. BEWIE3IAS
AEH A—1)—iELLS (¥T) 2 86.5 17|BEEMIAS. BEWIE3AS
REE SARRY 20 69w EEREH B R 290 18 %3&53;0#&*&%&&%0)@*4%%&%(%$u4¢4ﬁ)—m
ZEE SARSY 20 69kw LR 8 1510 19 ?’gﬁﬂﬁ&@#ﬁﬁ%&i%@#ﬁﬂ%i%ﬁ('%*D4¢4}51)—%
FSws otiEH98kw BERIBL BE PR 948 oo RIS FU MR F DIRH T EEE (FHAFIA) -1

18




% 5 f #* : <t kO |Hf | BE |BEES g H i B
= P ——— a 2530 . ?’gﬁﬂﬁ&zﬁ#ﬁéﬁ%&i%m#ﬁﬂ%i%ﬁ(%%n4¢4ﬁl)—1%%
REMmR $HD 150PSE! 150t 110kw Einigs) S| 15,100 22| E LU HEMBFEEDEMETEE (TM4E4H) a6
REMmR $HD 150PSEY 150t 110kw it FEER | 14,100 23| MIME LUV HMBFEEDEMETEE (FM4E4H) a6
T GNSS a | 15500 » ﬂggﬂﬁ&zﬁ#ﬁﬁ%&i%w#ﬁﬂ%i%ﬁ(%*ﬂ4¢4ﬁl)—é}
BB EH HERREE (SANY- RHAE) B | 347,000 25| A
BB EH HERPEE HERY EARE) B | 36800 26| R
AR BAY UMEE GHRAREE TARE) B | 15600 27| %1%
FEREN KRS RKR A B | 44000 28| Ri7
AR AN EIBEEE UKV AR YD) B | 15600 29| RIR
FEHIREN ROV B | 339,000 30| RI&
S HTERER BEADBEREY ®ik| 19,800 31| SHFN5EIAKEFRE B
SRR 4 FERRBEE FEB(GSDE Y R BA RS I #ik| 11,000 32| HHI543 B KA FT SR 5T B4
SRR FPAURHROFCABAERRERNERES 1apr| 23300 33| 20543 B K A FF SR E
SRR EROMEABAARRERACRROATY 1tk 23300 34| 20543 B K A FF SR B
S HTERER EBMIS Ok k| 18,000 35| HFN5EI AKEF R B
T — g@gj@gﬁﬁﬁ@7a>9rpsﬁﬁxzzﬁﬂmﬁﬁ- % 5,000 56|28
BTt EMERY i - ERGHEARRE BMAE)) = 7,870 37| Rk
BTt EMERY i - ERGIEARRE RAHRE)) % | 15700 38| Rk
BTt EMERY B 2R (HERT) = 4,580 39| Ri%




RSEESR

24.36

BRRSEREEMIEEER
700 LT

—REEE

24.75

5005 LR
EDMMIEIFATALEALEL (5% TF) 1%

X HEEEEL-1-1






